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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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1. (a) State whether the following are true or false (any five) : ' 5x1=5
frefafen o ¥ € o oW, TARY (FR UE)
(/) Logic is a branch of Psychology. |
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(i) A sound argument is that ene which is valid and has all premises and conclusion

as true,

@@agﬁa%@ﬁ%@éa@ﬂhﬁﬁaaﬁaﬂmaﬁw
T B4 ¥
- (i) In. particular propositions subject term is distributed.
AT THaRl § SR W o §
(v) An invalid argument must have false premises and false conclusion.
Th 9 IR i a9 frad s 93 wfee |
(v) The subaltern of ‘E’ proposition i-s O
‘B W IUHEN 0 B ¥
(vi) 1Al is valid in second figure.
1Al fgdta smepfa & 8y 2 &
(vii) In fallacy of four terms there are more than three terms in a syllogism.
Wmﬁmﬁaﬁaﬁﬁm%@ﬁ% |
(b) Fill in the blanks (any five) :

fa wrl &t 9ff s (8 o) .

‘() The ‘Father’ of deduction is Aristotle while the

5x1=5

‘father’ of induction is

..........
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(iii)

(v)
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(vi)

(vii)
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The oo of an argument is the proposition that is affirmed on

the basis of other propositions in the argument.
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(viii) The validity/invalidity of a deductive argument determined by its

.......................

and not by its content.

@mwgmaﬁéw/ﬁwmﬁwm ..........................
Y B R, oAy @ W

()  Give brief answers to the following questions (any ten) : 10x2=20
Frfafed s @ 3w dfm (3% =w)
(!)  Define obversion with example.
sfoad ® qew wfea wRefa HifTT |
() Why is the conversion of ‘O’ not valid ?
‘0 F UfEd qy W TF @ 2
(i) Explain induction.
A R IS |
(v) Give the conversion of ‘E’ and ‘I’ proposition.
‘B d T H Redq same |
(v)  Give two examples of the fallacy of complex question.

wmaﬁﬁw%ﬁmﬁﬁqn
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(vi) Give an example of a syllogism which involves both the fallacies of illicit major

and undistributed middle term.

TF 99 a1 IS0 gty faed sew ge 1] dW 3R

AT HEAH qg TN B |
(vii) What is the difference between sentence and proposition ?
T 3R e W SR § 2
(viii) Write a short note 0;1 truth and validity.
o 9 dud W T dfew fewoht fafew |
(ix) Why should conclusion be particular in third figure ?
et st & Pl sived @ e 2
(x) What is the difference between premise and conclusion ?
s 9 g # | SR ¥ 2
(xi) Do as directed :
frwmgar. i
(@)  Some teachers are scholars. (Obversion)

5 fogs fagm § 1 (vfrada)
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(6)  All psychologists are trained to read mental phenomena. (Conversion)

Wl TaetE wefae nfafafad @ vet @ e @3 ¥

(afeard)
(xif) Explain deduction.
Frm #) e HfTY |
Write short.notes on any three of the following : | 3XSf15

frafafea 4 4 fosf 99 w e food fafey
(® The use of Logic |

THYRA H FA
(@) Distribution of Terms

& W e
(@if) Traditional square of opposition

Wy ey o
(iv) Figure, mood and form of a categorical Syllogism

T g AT F INHMA, ITEN T HAFR
(v) Existential Import. |
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Arrange any one of the following into standard form of categorical syllogism and
indicate its Figure and Mood and test its validity/invalidity by using six general rules of

syllogism : | ' 6

et <Ea # AE AHR § e g AegfR & o %
WWWM%W/ﬁwﬁﬁaaﬂm(aﬁi@)

() Some Indians are not honest because no Indians are philosophers and honest people

are all philosophers.

FF TR $HFRR T § HifE P WRdE IRt T g SR aR
R i B ¥

(i)  All students are genius and some students are brave hence some genius people

are brave.

it oE Dyt £ ok w9 B ey ¥, T U § FB AuEl A
LA

Test the validity/invalidity of any two of the following : Ix2=4
frefafen ® Jua/sEya ® W e (FE RA)

() AAI2

(i) All-1

(i) EAE-3

(iv) 1AI-4. .
P.TO.
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4. (@) Identify and explain the informal fallacies committed in the following passages

(any five) : 5x2=10

Frefefen el & i @ a1 veam Ffm (B o) .

(/)  Since students do not have any question to ask, it means they are ready for

the test.

‘{ﬁﬁaﬁ&iémaﬂémqgﬁﬁqﬁ%mw%ﬁé
Ste wlien & fow AR €

(i)  Doctor your advice that I should not smoke cigarette is not convincing because

you yourself smoke.

mmﬁmﬁgﬁfaﬁzﬂﬁﬁmm%@aﬁam
¢ Hifs a9 wg fome @y §

() How can you sentence this person who is the father of innocent children, whose
mother died one month back ?

F S W A F N L W E 2 WO mgw a= W
%,Wﬁmém@mmgan%n
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(vi) Have You started taking your Philosophy classes seriously ?
wmmﬁmmﬁﬁmﬁmﬂamﬁm ?

(vit) To take bath is good for health, Therefore a person who ig suffering from pneumonia

should take bath for good healih,

Define with examples any fwo of the following fallacies : _ - 2x5=]0
W@mﬁ%@aaﬁaﬁﬁvﬁmﬁaﬁﬁq(ﬁéa) :
) Begging the question

TEE Ay
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5x1=5

P.T.O.




5182

(i)

(i)

()

(v)

( 10

Irrelevant conclusion

s fTerd a1 o 3w
False Cause

faem wru 3w

Amphiboly

YE T A 9 A oW
Division.
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